
Scientific Notation (F)Convert each number from scientific notation to an ordinary number.
5.98 × 10⁻⁴ = 9.058 × 10⁻⁸ =
8.07 × 10⁻⁴ = 1.8 × 10⁻⁸ =

4.128 × 10⁻³ = 8.7 × 10⁻⁵ =
7.68 × 10⁻³ = 6.315 × 10⁻⁷ =
1.8 × 10⁻⁶ = 2.34 × 10⁻⁵ =
2.8 × 10⁻³ = 3.33 × 10⁻³ =

4.15 × 10⁻⁵ = 6.1 × 10⁻³ =
7.1 × 10⁻⁷ = 9.413 × 10⁻⁷ =

8.367 × 10⁻⁴ = 9.24 × 10⁻⁸ =
5.3 × 10⁻⁸ = 9.09 × 10⁻⁵ =
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Scientific Notation (F) AnswersConvert each number from scientific notation to an ordinary number.
5.98 × 10⁻⁴ = 0.000598 9.058 × 10⁻⁸ = 0.00000009058
8.07 × 10⁻⁴ = 0.000807 1.8 × 10⁻⁸ = 0.000000018

4.128 × 10⁻³ = 0.004128 8.7 × 10⁻⁵ = 0.000087
7.68 × 10⁻³ = 0.00768 6.315 × 10⁻⁷ = 0.0000006315
1.8 × 10⁻⁶ = 0.0000018 2.34 × 10⁻⁵ = 0.0000234
2.8 × 10⁻³ = 0.0028 3.33 × 10⁻³ = 0.00333

4.15 × 10⁻⁵ = 0.0000415 6.1 × 10⁻³ = 0.0061
7.1 × 10⁻⁷ = 0.00000071 9.413 × 10⁻⁷ = 0.0000009413

8.367 × 10⁻⁴ = 0.0008367 9.24 × 10⁻⁸ = 0.0000000924
5.3 × 10⁻⁸ = 0.000000053 9.09 × 10⁻⁵ = 0.0000909
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